International Journal of Mathematics and Computer Science, **19**(2024), no. 2, 373–375

$$\binom{M}{CS}$$

On the Diophantine Equation $\frac{1}{a} + \frac{1}{b} = \frac{m}{pq}$

Suton Tadee

Department of Mathematics Faculty of Science and Technology Thepsatri Rajabhat University Lopburi 15000, Thailand

email: suton.t@lawasri.tru.ac.th

(Received September 1, 2023, Accepted October 2, 2023, Published November 10, 2023)

Abstract

In this article, we find all positive integer solutions of the Diophantine Equation $\frac{1}{a} + \frac{1}{b} = \frac{m}{pq}$, where *m* is a positive integer and *p*, *q* are distinct prime numbers.

1 Introduction

Let m be a positive integer and p, q be distinct prime numbers. Recently, researchers have been interested in studying all positive integer solutions of the Diophantine equation in the form

$$\frac{1}{a} + \frac{1}{b} = \frac{m}{pq}.\tag{1.1}$$

For example, in 2022, Johnson [1] found all positive integer solutions of the equation (1.1), where m = q+1 with $(q-1) \mid (p+1)$. After that, Prugsapitak ([2],[3]) considered the case m = q-1 with p > q. In this paper, we investigate all positive integer solutions of the equation (1.1) for any positive integer m using only elementary methods.

Key words and phrases: Diophantine equation, positive integer solution. AMS (MOS) Subject Classifications: 11D85, 11D99. ISSN 1814-0432, 2024, http://ijmcs.future-in-tech.net

2 Main Results

Throughout this paper, we assume that m is a positive integer and p, q are distinct prime numbers. First, we find all positive integer solutions (a, b) of the equation (1.1), when m = 1.

Lemma 2.1. If m = 1, then all positive integer solutions of (1.1) are

$$(a,b) \in \{(p(p+q),q(p+q)), (p(q+1),pq(q+1)), (pq(p+1),q(p+1)), (2pq,2pq), (pq(pq+1),pq+1)\}.$$

Proof. Let (a, b) be a positive integer solution of (1.1). Then (a + b)pq = ab. Since p is prime, we have $p \mid a$ or $p \mid b$. Without loss of generality, we may assume that $p \mid a$. Then $a = pa_1$, for some positive integer a_1 . It implies that $(pa_1 + b)q = a_1b$. Therefore, $q \mid a_1b$.

Case 1. $q \mid b$. Then there exists a positive integer b_1 such that $b = qb_1$. Thus $qb_1 = a_1(b_1 - p)$ from which it follows that $a_1 \mid qb_1$. Since q is prime, we consider the following two subcases.

Subcase 1.1 $gcd(q, a_1) = 1$. Then $a_1 | b_1$ and so $b_1 = a_1b_2$, for some positive integer b_2 . Thus $p = (a_1 - q)b_2$. If $p = a_1 - q$ and $b_2 = 1$, then $a_1 = p + q$ and $b_1 = p + q$. Therefore, (a, b) = (p(p+q), q(p+q)). If $p = b_2$ and $a_1 - q = 1$, then $a_1 = q + 1$ and $b_1 = p(q+1)$. Hence (a, b) = (p(q+1), pq(q+1)).

Subcase 1.2 $gcd(q, a_1) = q$. Then $q \mid a_1$ and so $a_1 = qa_2$, for some positive integer a_2 . It implies that $pa_2 = (a_2 - 1)b_1$. Since p is prime, we get $gcd(p, b_1) = 1$ or p. Assume that $gcd(p, b_1) = 1$. Since $gcd(a_2, a_2 - 1) = 1$, we obtain $p = a_2 - 1$ and $a_2 = b_1$. Thus $a_2 = p + 1$, $b_1 = p + 1$ and $a_1 = q(p+1)$. Then (a, b) = (pq(p+1), q(p+1)). If $gcd(p, b_1) = p$, then $p \mid b_1$ and so $b_1 = pb_2$, for some positive integer b_2 . Consequently, $a_2 = (a_2 - 1)b_2$. Then $a_2 = b_2 = 2$. Therefore, $a_1 = 2q$ and $b_1 = 2p$. Thus (a, b) = (2pq, 2pq).

Case 2. $q \nmid b$. Then gcd(q, b) = 1 and $q \mid a_1$. So we have $a_1 = qa_2$, for some positive integer a_2 . Thus $pqa_2 = (a_2 - 1)b$. Since $gcd(a_2, a_2 - 1) = 1$, we have two possible subcases.

Subcase 2.1 $pa_2 = b$ and $q = a_2 - 1$. Then $a_2 = q + 1$ and so $a_1 = q(q+1)$. Thus (a, b) = (pq(q+1), p(q+1)). On the Diophantine Equation $\frac{1}{a} + \frac{1}{b} = \frac{m}{pq}$

Subcase 2.2 $a_2 = b$ and $pq = a_2 - 1$. Then $a_2 = pq + 1$ and $a_1 = q(pq + 1)$. Thus (a, b) = (pq(pq + 1), pq + 1).

When we divide (1.1) by m, it is easy to verify the following theorem, by Lemma 2.1.

Theorem 2.2. For any positive integer m, the all positive integer solutions of (1.1) are

$$\begin{aligned} (a,b) \in &\{(\frac{p(p+q)}{m}, \frac{q(p+q)}{m}), (\frac{p(q+1)}{m}, \frac{pq(q+1)}{m}), (\frac{pq(p+1)}{m}, \frac{q(p+1)}{m}), \\ &(\frac{2pq}{m}, \frac{2pq}{m}), (\frac{pq(pq+1)}{m}, \frac{pq+1}{m})\} \cap \mathbb{Z} \times \mathbb{Z}. \end{aligned}$$

Acknowledgement

The author would like to thank the reviewers for their careful reading of this manuscript and their valuable suggestions and corrections. This work was supported by the Research and Development Institute, Faculty of Science and Technology, Thepsatri Rajabhat University, Thailand.

References

- J. W. Johnson, A Diophantine Equation with an Elementary Solution, College Math. J., 53, no. 5, (2022), 361–363.
- [2] S. Prugsapitak, The Egyptian Fraction of the Form $\frac{1}{a} + \frac{1}{b} = \frac{q-1}{pq}$, Int. J. Math. Comput. Sci., 18, no. 4, (2023), 595–597.
- [3] S. Prugsapitak, Corrigendum to the Egyptian Fraction of the Form $\frac{1}{a} + \frac{1}{b} = \frac{q-1}{pq}$, Int. J. Math. Comput. Sci., **19**, no. 1, (2024), 237.